


30



3 1



3 2





3 4



hJY’Tui)6161nfl44aJ 2507 - 160,000 8n-196 15 hml 1 &J
-9

2531 - 5 0 0 , 0 0 0  dmpa 8 8 . 9  hAml 2  F&





3 7



3 8



39



4 0









4 4



4 5



4 6.



47



48





5 0

(memory lapse) am



5 1
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5 4



5 5



5 6



5 7





5 9



6 0



6 1

Probabi1it.y  Samples



6 2

Convenience Sample



6 3
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iiW1Z.J









6 8



6 9



7 0



7 1







7 4



7 5



10.

11.

12.



7 7

&na1 2 3 1 13 3

2 - 5i.i 2 12 2.5
Q

l.nu 5 9 3 10 2

invhi 6 , 0 0 0 9 5 0 0

Z&~-2&m 7 4,000 16 800
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1 10,000 60 30

2 12,000 50 15

3 8,000 40 8
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7 . n  z=  4 0 0 ,  2 =  3 0 ,  S  =  1 0 . 5 ,  N  =  5,000,OOO

(tl:’ S ;  =  S/fi =  10.5/p =  1 . 6 7

ix  doih  9 5 %  “089  ‘/lx  i-70  2 +  z.oe6s;

= 3 0  +  (1.96)(1.67)

= 3 0  + 3 . 2 5  =  2 6 . 7 4 6 4 ,  3 3 . 2 5 3 6  &h?+

(fl)  *T =  N? =  5,000,000(30) =  150,000,000 =  1 5 0  tkhhi

i'N&Ju 95% aa. T ;a ^T j, N(Zo(,zS;)

=  1 5 0  t_ 5(1.96)(1.67)

8 . N = 5 ibunu,  n = 400, npr  = 170, nN  = 230

x1 = 40, x2 = 22.6, S1 = 2.7, Sz  = 7.6

(fl)  3 5 %  &Id  &cwm¶ yv = 21 * ?oesSx,

I

=  4 0  f (1.96)(2.7/  170)
d--

S;, = -207 = 40 + .4058775

= 39.594123, 40.405877

(PI)  9 5 %  lh&kvlJ pc = x2 -e =.  oz&i2
= 2 2 . 6  + (1.96)(7.6/j&&

= 22.6 + (1.96)(.5011291)

= 22.6 +_ 0.982213

= 21.617787, 23.582213
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N1  = 2000, N 2 = 1000, N3 = 1000, N = 4000, 6, = .7, 6, =

1.4. 6, = 2.8
4-v v

tn) asam~muuudnaau

Nh

nh = - x n

N

n1 = (2000/4000)  x 500 = 250 wu

n2 = (1000/4000)  x 500 = 125 wpb = n 3

(a) %Wm% optimum

Nh 6,

nh = x n

rNh 6-h

1 2000 -7 1400 (1400/5600)500 = 125 = n 1

2 1000 1.4 1400 (1400/5600)500 = 125 = n 2

3 1000 2.8 2800 (2800/5600)500 = 250 = n 3

N = 4000 5600 500 = n



3. x = 13, x = 12, x = 10,1 2 3 N1 = 2000, N2 = 1000, N3 = 1000

2 2 2s1 =9,s i: = 6.25, s 3 = 4. (N1/N) = .5, 'NZ/N) = (N3/N)

-- -25

n?T~maasian~~e~~~  9 T&h =n1 250, =nz n3 = 125

x = ZINhXh/N

= I2000~13!  t 1iKJ0r121  t 11J1)0~10~~/3cl00

T, = (Nh/n) x n

"I = (6,000/10,000) 165 = 99



8 2

32
= (4,000/10,000)  165 = 66

(0)  %PSGZ  optimum

NhshKhh NhshNhsh NhshiqE Chr NhshKNhshK
60006000 500500500 3,000,0003,000,0003,000,000 1,000,0001,000,000 33 9,000,0009,000,0009,000,000

40004000 800800800 3,200,OOO3,200,OOO3,200,OOO 800,000800,000 44 12,800,00012,800,00012,800,000

6,200,OOO6,200,OOO 1,800,OOO1,800,OOO 21,800,ooo21,800,ooo

“I = (3,000,000/6,200,000~  165 = 80

%
= (3,200,000/6,200,000t  165 = 85

n = X C

2

= 11,800,000/21,800,000~ x 2000 = 165

n1 = ~i,ooo,ooo~i,aoo,ooo~ x 165 = 92

ne = (800,000/1,800,000)  x 165 = 73

(J) hLI$~  1, n 1 = 92, Cl = 9

dl%;iilF~Y~~  = 92 x 9 = 826 'y-r

ik.l$i  2, ne = 73, c* = 16

dl'la"b~,,,  = '73 x 16 = 1,168

5m 2 h.$ = 828 + 1,168 = 1,996 u-n?
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